Mariestads BS
Partavling, hcp 2019-01-21

Partavling, 9 bord, 17 par. Antal brickor: 24. Medel: 167.8. Frirond (*) ger egen procent.
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Plac Par Poang % Namn MID Klubb
1 3 211.6 62.99  Anita Stenhammar - Harald Stenhammar 65833 Mariestads BS
2 10 211.2 62.87  Ann-Britt Henningson - Anitha Lampinen 40928 Mariestads BS - BK Ruter
3 17 194.6 57.91 Maj-Britt Sjoberg - Sara Andersson 64013 Mariestads BS
4 15 182.0 54.17 Ewa Smedberg - Kjell Persson 7743  Mariestads BS - BK Ruter
5 9 181.9 54.14  Ceve Eldh - Mats Sunesson 59991 Skdévde BA - Mariestads BS
6 4 180.7 53.78  Pirkko Laukkanen - Kerstin Persson 11656 Mariestads BS - BK Ruter
7 14 179.3 53.37 Gerd Stylander - Goéran Stylander 7655  Mariestads BS
8 5 179.0 53.29  Anita Beskow - Evy Esplund 33929 Mariestads BS - BK Ruter
9 18 178.2 53.04 Carl-Ake Frisk - Lars-Géran Nilsson 7046  Mariestads BS - Skévde BA
10 12 167.7 49.92  Anita Gunnarsson - Bengt-Ove Wallenstein 1903 BK Ruter - Mariestads BS
11 6 147.1 43.78 Kerstin Becker - Wiveka Johansson 88503 Mariestads BS - BK Ruter
12 1 146.9  43.72 Aila Seger - Kjell Eriksson 56065 Mariestads BS
13 2 146.5  43.59 Jorgen Jansson - Bertil Strand 3919 BK Ruter
14 11 140.0 41.67 Marita Folkesson - Barbro Storm 33942 BK Ruter
15 16 138.9  41.33 Mildred Hjaltman - Kerstin Lundborg 54786 Mariestads BS
16 8 137.2 40.82 Hans Fimmerstad - Leif Karlsson 66131 Mariestads BS
17 13 130.0 38.68 Ingela Fagerlind - Lars Fréandberg 31777 BK Ruter - Mariestads BS
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